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1 &5/ 1 9 2,290[ 1 36 2,070| 23 4,360 39 90.4| 35 131.7| 43 96.5| N>
2 AT 1 31 2,870[ 1 28 1,850] 28 4,720( 18 64.5| 22 118.2| 24 78.8| A
3 —=H 1 2 1,751| 1 27 1,836| 4 3,587| 45 104.9] 13 99.9| 15 66.6| AN
4 EE T 1 23 2575/ 1 8 1,600| 15 4,175| 15 62.1] 10 98.9| 12 65.9
5 M 1|3 1,960 1 28 1,850| 6 3,810 41 94.4| 24 119.1| 28 81.0| o
6 ERHH 1 2,290[ 1 18 1,750| 11 4,040 37 76.4] 14 100.2| 16 66.8| A
7 &)l 1 28 2,700 1 26 1,810| 25 4,510( 21 67.0| 27 121.8| 44 98.4
8 EE™ 1 43 3,800 1 42 2,568| 46 6,368 22 67.6] 42 144.4| 42 96.3| A
9 Z=EH 1 32 2,900| 1 1,600| 24 4,500 9 55.2| 26 121.7| 29 81.1
10 AT 1 5 2,110| 1 1,500| 5 3,610| 25 711 9 98.3| 21 749| N
11 £@H 1 20 2510 1 22 1,800| 22 4,310 27 71.7| 28 121.8| 27 80.8|
12 = 1 14 2,400( 1 1,500 3,900| 16 62.5| 8 97.3| 10 64.8
13 FE™ 1 19 2,500 1 1,450 3,950 12 58.0] 11 99.6| 13 66.4
14 SR 1 30 2,760 1 37 2,090( 30 4,850| 35 75.7| 23 118.9| 25 79.3
15 K1 1] 1 1,345 1 13 1,610 1 2,955 47 119.7] 16 104.4| 17 68.4
16 %38 1 25 26500 1 7 1,550| 19 4,200( 13 58.5| 45 152.9| 46 100.2
17 5I@H 1 14 2,400 1 22 1,800| 19 4,200 33 75.0| 25 120.2| 22 76.6
18 /i 1 6 21250 1 1 1,438| 3 3,563| 23 67.7] 2 82.4| 6 61.7
19 fgR ™ 1 36 3,300[ 1 38 2,200( 40 5,500 19 66.7| 39 143.0| 40 93.5| A
20 T 1 4 3,550 1 43 2,600| 45 6,150| 31 73.2| 40 143.5| 39 93.1| A
21 EiEH 1 11 2,300[ 1 18 1,750| 12 4,050 36 76.1] 30 124.0| 30 82.4
22 KAFTH 1 24 2,600 1 3 1,500( 13 4,100 11 577 7 97.2| 10 64.8
23 5% 17 2,160 1 35 2,020| 16 4,180| 40 93.5| 19 109.1| 46 100.2| A
24 H13ITH 1 33 3,000[ 1 14 1,650| 26 4,650 8 55.0] 12 99.6| 13 66.4
25 BIRMBH 1 34 3,050[ 1 38 2,200( 36 5,250 30 72.1| 29 123.8| 31 82.5| N
26 EE® 1 35 3,086 1 8 1,600| 27 4,686 3 51.8] 17 107.5| 18 71.7
27 BRTH 1 4 2,010 1 | 6 1,508| 2 3,518| 33 75.0| 1 759 2 42.4
28 LT 3 37 3,320[ 1 31 1,950 38 5,270| 14 58.7] 31 1245 26 80.1
29 A 4 37 3,320[ 1 30 1,900 35 5,220 10 57.2| 33 126.5| 33 84.3
30 MR 1 42 3,600 1 8 1,600 34 5200 1 44.4] 21 117.2| 23 78.1
31 B 1 21 2,550 1 46 3,000( 41 5,550 46 117.6] 46 168.9| 45 98.8
32 JEA™ 1 25 2,650 1 43 2,600| 36 5,250( 43 98.1| 37 135.0| 37 90.0
BILEES 3 43 3,800[ 1 32 2,000( 42 5,800 4 52.6| 32 124.8| 32 83.2
34 FE 3 47 4,700| 1 46 3,000( 47 7,700 17 63.8| 47 195.0| 36 88.3
35 HELH 4 37 33200 1 22 1,800| 32 5120 6 54.2| 18 108.1| 19 72.1
36 HEM™ 1 13 2,350[ 1 41 2,400( 29 4,750 44 102.1] 34 131.0 1 32.5
37 RAFES 4 46 4,020] 1 32 2,000| 44 6,020 2 49.8| 38 138.2| 38 92.1|
38 ER4BET 4 37 3,320 2 22 1,800] 32 5,120 54.2| 15 1015 7 62.1
39 2] fy 4 43 3,800 2 32 2,000( 42 5,800 52.6] 41 144.2| 41 96.2
40 K [CIAT 317 2,439 2 20 1,754| 17 4,193| 28 71.9] 36 132.0| 35 87.4
41 kM7 4 17 2,439 2 20 1,754| 17 4,193| 28 719 5 91.0[ 5 60.6
42 KBHT 4 25 2,650 2 38 2,200( 30 4,850 38 83.0| 44 149.6| 9 64.1
43 HESTHT 2 29 2,750 2 43 2,600( 39 5,350( 42 94.5| 43 148.3| 34 86.5| N>
44 B LLHT 2 21 2,550 2 15 1,700| 21 4,250 19 66.7 94.4| 8 62.7
45 EEE AT 2 8 2,250[ 2 8 1,600| 7 3,850 25 71.1 83.1] 3 51.8
46 R 2 14 2,400 2 15 1,700| 13 4,100 24 70.8| 20 111.7| 20 745
47 ==MHHAT 2 12 2,320 2 15 1,700{ 10 4,020| 32 733| 4 88.3| 4 58.8
=t | 31 2,585| 37 1,918 4,691 71.9 120.1 78.4
AT - A 5 2,454 10 1,881 4,573 71.0 114.4 70.5
¥ | 4 3,565| 0 0 3,565 —~ - -
39 40 2,667| 47 1,910 4,666 71.7 118.9 76.7
LEHET 2,650 1,640 4,290 121.0 104.2| A
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